EARAROBEEIERT — 2 N— IBISH —F

20186 H6H (k) 5SEIEMH4H

BLlc:= v5xamt

‘ (%] ‘ (sl — | 4 (@) 14000 KB

[A&E£] 1% :280,000 W ~ 23%&:79,000 37#&:39,000 W  43&:28,000H 5 i&:22,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 | EREKX 1:31.9 1-1-1-1 | 39.3| -— 2 422 | R (EE)
1172l 7171477=7v%— # 54.0 (- 8 | B SELTATUK
R:VZREZ—=3I=Z28— B:T7AT7—T7—2X EAILEKS
[Ii[2:V PN :32. =2 . = FEt (EH)
5 NPECAPECEY, H 5 e 1(342)6 3-3-3-2 | 39.7 3 (4_617) PNAESS
LHNNRARNCTA NE B/ —Ty—42 b CIVE AERKS
S RUEEN 4 | FEREAR 1:33.3 6-6-6-5 |40.0| — 7 445 | EEZER (EMA)
3178 TJr—=3IUTTS> i 54.0 (4) (+4) | A=
R:dr—3I0)7> BTXI/TT BA F=i
o O s 9 | TTRLEH 1:33.4 2-2-2-3 | 40.7| — 1 429 | EFEZER (EA)
4|5]5 X—=/)N—FEAaR—Jb 54.0 (1/2) (+4) HIlZEF
RBALINT Ry TR Biv oA TLAIN— =4S
= = 4 8 | BAF 1:33.5 3-4-4-6 | 40.4| — 8 441 | EEHZER (EMB)
58|10 P71V =7 54.0 (56) o pamrea—u-7
L:Za—-A4>952K B:IF> RS
7 | NBAFE 1:33.6 8-8-8-7 |39.7| — | 10 | 416 |AEFIEX (EH)
[ + ALt (7€) N
XM= TFR—L B9 IRTRLAZX H—L—+TvIN> - T7—LBERS
F . i 4 | REEEAN 1:33.8 5-5-4-4 | 40.6 | — 4 487 | EEFI— (k)
7 3| T7TRAKRY b 54.0 (1 1/2) o) | B
R:T7—774—X B:TIRAINE— ke
3 D # 7 | HEE= 1:34.5 9-9-9-9 [39.3| — 9 418 | AEFIEX (EE)
8l1]1|¥Y¥TAI> 54.0 @) © |8 F-HFNRZhEE
R:F—TIRXTPN—b~ B:HIST7UT BER 2y b
g = 8 | AEE 1:34.7 7-7-7-8 | 41.0| — 6 467 | EEAITRE (ER)
9 6 NAZ=TUA=3F :H: A51.0 (1) -7 (%) Z7—ZXhEY 3>
R:T7yv3IT—L BAVEANRTLT« AFRO4%E
i S — B4 | FHH— 1:35.5 10-10-9-10 | 40.3 | — 5 53 |AB&E= (EH)
1018/9|77RXA4=F> 56.0 (5) (o) |HBEBRK
LTI ATFIRIN BT T Tl R
® 1—F—@EBIERL
13—4+— 7,5,(2,10),3,8,6,4,1,9
20—F— 7,5,2,10,3,8,6,4,1,9
Jol=5r= 7,5,2,(3,10),8,6,4, (1,9)
40—F— 7,2,5,3,8,10,4,6,1,9
[ N5
B 7 320M 714K 2-7 290M e E 2-7 560 JEE 2-7-8 5,800
B B 7 1509 7-8 1,230H B = 2-7 690M EE 7-2-8 17,550M
2 140 2-8 1,900M B H 7-2 1,220
8 520M

ABTICOVTRDTEEERROODE, JHB LS,




